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You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number, Use marker or when to fill the circles.

( SECTION-A ii»)

Q.1 Questions (A) (B) (®) (D)
The number of base units in SI are: 4 g .
I o = s 6
. IS Y5k ST
A ball 1s thrown vertically upward. Its Zero
velocity at the highest point will be:
11) JQ.?JJ’J;([E‘Q:;A‘%Q%%Q”T”}[JHQ /El 10m5_1 9.9mS_1 9.8mS_1
g
The co-efficient of friction between
jijy | tyre amd wet road 1s: ) 0.1 0.2 0.3 0.4
:‘L,dﬂf//..jr&.‘f}djl:'/c)yﬂLf}/ngﬂf//lf
Inertia depends upon: Force Net force Mass Velocity
iV) S . . . b
:‘LE’%JWIK“UA Jse u’/iw £ JU S Us
The turning effect of a force is called: | Momentum orgﬁé"\ )| Net force | Moment arm
v) u}:é[}lu:)jiuﬁiu)/ (b"// S \\ (/,s.ﬁlf' JJJ’&,{ rﬂé&'j}”
| The value of ‘g’ on moon is: i;f 2 _2 _2
V1) :‘Lgnogd/‘g"{:xlg 1?21%35“ 1 72ms~ 1.82ms 1.92ms
A body of mass 50Kg raised to a J;{{@
height of3m, its potential energy Wl\l\l ;\\3)
be:
vii) ) y\‘\ 1200 J 1300 J 1400 J 1500 J
o« LI F S B3m S 1 Ll #50
P \\ N
NN JSU
The work done will be zero, when the
angle between the force and the X p ) )
Vlll) distance 1s: 45 60 90 180
-ﬁ,,uuyﬂé.uww)_,eKﬁﬁm,
The mass of 200cm? of stone 500¢ its
density will be:
ix) | (s e 500gULE A L peds 200em3 L 2.5gcm™% | 2.4gcm™3 | 2.3gem”3 2.2gcm™3
..gfnd"i 3
Water freezes at: g 0 -
; >+ | OF K F’ —2
X ooty A /oK
| In solids, heat is transferred by: Radiation | Conduction | Convection | absorption
=) e Y e 7SI AU | SIS S ¥ S
Thermal conductivity of water is: 0.29Wm™! | 0.49Wm~1 | 0.39Wm™! | 0.59Wm™1
i) K~ K1 K~ K™

e dnE 2 AU
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( SECTION-B . )

2. Write short answers to any Five questions:
1. What 1s meant by Vernier Constant?
i1. Define Plasma Physics.

111. Why do we need to measure extremely small

intervals of time?
1v. Write down two advantages of Friction.

v. Define Centrifugal Force.

vi. When a gun 1s fried, it recoils. Why?

vil. What 1s Global Positioning System?

viil. State law of Gravitation.
3. Write short answers to any Five questions:

1. Differentiate between vectors and scalars.

1. Represent 80 N force acting in North-East

direction.
iii. Define acceleration and write down its S. L% f X
1v. Define density and write its unit. %ﬁ*& O\/
\ /5

v. The mass of 5 litre of waten\\rs/%kg Find 1ts
density. (1 litre = 1073m)>~ L~

vi. Differentiate between stress and strain.
vil. Why conduction of heat does not take place in
gases”!

viil. Write down two uses of good conductors.

4. Write short answers to any Five questions:

1. Define stable and neutral equilibrium.

11. How does Head to Tail Rule help to find the
resultant of vectors?

111. Define centre of mass and centre of gravity.

1v. Differentiate between work and energy.

v. Define efficiency of a system and write formula
of percentage efficiency.

vi. Define potential energy and write 1ts equation.

vii. Convert 100F° temperature on Fahrenheit Scale
into Celsiues Scale.
viil. Define linear thermal expansion and volume
thermal expansion.

(5x2=10)

( LWQJ

(5x2=10)

:éj,',f“ aylﬁéaﬂlfékééf sl
Cesl e L i
Sy PSS ey i
"Ld/u/u/:/(f;l./u;ﬂ’:ydwé.»:u'/ 111
_é/“/"/!},uﬁc)y/' 1V
Y AN LAY 2
ol B 5 e Gl it i
(Global Positioning System)(b‘/ _fw..;;jJ:g Vil
S S
_iuwiwj?wf viii

_, 5)\/’ = _iuw/u"u"ﬁ;,u £y i
0 \),, S U S8ONI 2 S e § 5 U i
_Eh L0
_gﬁgs.lgwmé_g/{ﬁkg i
K mEEy PGS v
..éplr&’ﬁfw_%ﬂ// ﬁSJu{&gﬁég v
(2L =1073 /1)
SSRGS s Vi
s U S 6P e i
e i 5 0 Vi
'i/}@tliéwﬂlfétaé;’/-ll
=y Jf/dfu_)/meu,»(u i
cSoal AT S o s A U S ke i

?4"_

PSS ST ST A i
e b PAC AT Y
4}0%&(0’?&1»%”154/3{5‘;36(1”’ Y
_ém,wfu’mlé_g}d/&jldﬁlfg Vi
Je ESET B A 100F A il
“E oy P S 7 i 32 8 v




( SECTION-C /, _»)

Note: Attempt any two Questions. (9%x2=18) ..q:/ J’ .:..'Ulr»:.(jf JO
5. (a) What 1s meant by law of Inertia? Also give two _’é;d{u’ft‘wﬁ?aﬂ/lfcb”ﬂdw () _5
examples. ' 0T

(b) A polar satellite is launched at 850km above s Js o b d/850km PR INTI, ; {1 (&)

earth. Find its orbital speed? i
_ir}b"'éz’df JTJJL.‘LQJ/

6. (a) Derive First Equation of Motion by using speed- .., ., . % LI Y J g (';E’ e (L) 6
time graph. ‘ ' "
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(b) Calculate the volume of an iron sph_e;*e of mass e oo o1 s )L JLrlj £5 ()
Skg. The density of iron is 8200kgm™>. w
= 8200kgm73.5"B £

7. (a) Define Resolution of forces. How can a force ¥ . /g 5 ¢ 5 5 5 (. 5 57 .2, D 7
be resolved 1nto 1ts perpendicular components? bl e OJ- b "/JJ/}}:’ Sz ()
s LU LA R s £
(b) A motor boat moves at a steady speed of 4ms™". ., . i .25 S amst ey e [0 ()
Water resistance acting on it is 4000 N. Calculate | . S
power of its engine. Sl Ok Jis a4 LUl - &S
e 1L U1 4000N
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